REPUBLIC OF KENYA



PUBLIC WORKS, ROADS AND TRANSPORT PROPOSED COMPLETION OF DINING HALL

FOR

SIALA TECHNICAL TRAINING INSTITUTE

BILLS OF QUANTITIES.

SUB COUNTY WORKS OFFICER,

PUBLIC WORKS , ROADS AND TRANSPORT

P.O BOX 104-40404

RONGO.

THE FUND ACCOUNT MANAGER,.

RONGO CONSTITUENCY

P.O BOX 542

RONGO

MARCH, 2020

WORKS OFFICER
RONGO SUB-COUNTY
P.O. Box 104, RONGO
NIGORI COUNTY

ITEM	DESCRIPTION	UNIT	QTY	RATE	AMOUNT
A	ELEMENT NO.01 DOORS AND WINDOWS Doors Flash door 900x2100mm for the store and office complete with frame and all accessories. Windows	No	13	6500	84500
В	Glazing 4mm thick clear sheet glass and glazing in panes with 0-0.5m ² with putty.	SM	52	1200	38400
C	Window cill P.C weathered and throated window cill 250 mm X 75mm thick reinforcement with 2no. 8mm	LM	30	800	24000
	diameter mild steel rods including all necessary mould and bedding in cement sad mortar 1:4	en eventringen inter entritionen men eventringen inter entritoring	doctor proprieta de la companya del companya de la companya del companya de la companya del la companya de la c		
	TOTAL FOR ELEMENT NO.1 CARRIED TO SUMMARY				146,900

ITEM	DESCRIPTION	UNIT	QTY	RATE	AMOUNT
			THE CONTRACTOR OF THE CONTRACT		
	ELEMENT NO.3 FINISHES		m-yalopasijaanja makaa	to-authorization state	rie v saleženosti serve sa t. s.
A	25 paving steel trowelled floor screed	SM	347	350	121450
3	Ceiling The work is hoisted at a height averaging 3,000 mm level.	miller de Australia de Carlos de Car			
	50x50mm cypress brandering	LM	2400	500	240000
C	75x50mm ceiling joists	LM	2000	100	200000
0	12mm thick gypsum board ceiling with 75 x 75 mm moulded cornice.	SM	149	2200	327,800
3	12 x 12mm thick cement sand mix (1:3) plaster to brick walling internally.	SM	185	350	64,750
7	12 x 12mm thick cement sand mix (1:3) Horizontal & vertical joints recessed pointing to brick walling externally.	SM	398	350	139,300
		· v	none in commission and the commission of the com	diamong unique the property of the control of the c	
		and the second s	dilana ammana di kata diliginali di kata di ka		
		A. A. managana di angana d		m encompromonate de la compromonate de la compromon	1
	TOTAL			American more state of the stat	1,093,300
	Brought from above page 02		data esta injectionamental anderion to the	Projection and the second seco	146,900
			radioanto en ada primera presenta de será.	Additional value and a second a	
	TOTAL FOR ELEMENT NO.03 CARRIED			Control of the Contro	1,240,200
na canada andra an	TO SUMMARY		en er salde discontinue		
	I U SUIVIIVIAR I				

GRAND SUMMARY

ITEM	DESCRIPTION	AMOUNT
A	TOTAL FOR CONSTRUCTION	1,240,200
В	PROVISIONAL SUM	The state of the s
	Allow for Kshs 60,00(Sixty thousand only) and testing of electrical work	
	to be tasted by project Manager	60,000
C	Aloow for Kshs 34,900 (Thirty four thousand nine hundred only) for	34,900
	project management	1,335,100
	SUB-TOTAL 1	
	Allow 5% for Project Management Committee(PMC)	66,755
	SUB TOTAL 2	1,401,855
	ADD 14% V.A.T	196,259.70
		1,598,114.70
	GRAND TOTAL CARRIED TO FORM OF TENDER	